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12 (a) 

 2

224
f

d
=  

M1 
for 

2
3.5

8

k
=  oe (k = 224)  

 

Accept use of  for the M 

mark 

   A1 

 
for 

2

224
f

d
= oe 

 

 

 (b) 4.73 M1 

 
for 

2

"224"
10

d
=  or  d2 = “224” ÷ 10  

or ft their value for k provided
2

k
f

d
= is used 

 

   A1 for answer in range 4.73 to 4.733 

 

 

13  Correct region R M1 

 

for at least two correct boundaries,  

eg y = – 3 or x = 2 or y = 2x + 1 or 3x + 2y = 6 
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for the remaining two correct boundaries 

or a third correct boundary with shading correct with the inequalities for at 

least two correct boundaries 

 

 

   C1 for a correct region (R) clearly identified 

 

 

 

 

 

 

 

 

 

 

 

 




